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1. If หAሬሬ⃗ × Bሬሬ⃗ ห = Aሬሬ⃗ . Bሬሬ⃗  angle between Aሬሬ⃗  

and Bሬሬ⃗  is :   

(A) Zero 

(B) π/4 

(C) π/2 

(D) π 

 1. ;fn หAሬሬ⃗ × Bሬሬ⃗ ห = Aሬሬ⃗ . Bሬሬ⃗ ] Aሬሬ⃗  vkSj Bሬሬ⃗  ds chp 

dks.k gksxk % 

(A) ‘kwwU; 

(B) π/4 

(C) π/2 

(D) π 

2. If vector 2ı̂ + ȷ̂ − 3k෠ and 3ı̂ −

12ȷ̂ + ck෠ are perpendicular, the 

value of c is : 

(A)   2 

(B) –2 

(C) 3 

(D) –3 

 2. ;fn lfn’k 2ı̂ + ȷ̂ − 3k෠ rFkk 3ı̂ − 12ȷ̂ +

ck෠ ,d nwljs ds yEcor~ gSa] rks c dk eku 

gksxk % 

(A)   2 

(B) –2 

(C) 3  

(D) –3 

3. The dot product of two vectors is 

a: 

(A)   Scalar 

(B) Vector 

(C) Pseudo scalar 

(D) Pseudo vector 

 3. nks lfn’k dk fcUnq xq.kuQy gS % 

(A) vfn’k 

(B) lfn’k 

(C) Nn~e vfn’k 

(D) Nn~e lfn’k 

4. The angular velocity behaves as : 

(A)   Vector  

(B) Scalar 

(C) Pseudo vector  

(D) Pseudo scalar 

 4. dks.kh; laosx O;ogkj djrk gS tSls % 

(A) lfn’k 

(B) vfn’k 

(C) Nn~e lfn’k  

(D) Nn~e vfn’k 
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5. Which of these quantities do not 

behave as a pseudo vector ? 

(A)   Torque 

(B) Angular momentum 

(C) Magnetic field 

(D) Linear momentum 

 5. fuEu esa dkSu lh jkf’k Nn~e lfn’k dh rjg 

O;ogkj ugha djrh gS % 

(A) cy;qXe 

(B) dks.kh; laosx 

(C) pqEcdh; {ks= 

(D) js[kh; laosx 

6. Direction of a zero vector : 

(A)   Does not exist 

(B) Towards origin 

(C) Indeterminate  

(D) None of these 

 6. ‘kwU; lfn’k dh fn’kk % 

(A) vfLrRo ugha gS 

(B) mn~xr & fcanq dh vksj 

(C) vfuf’pr 

(D) buesa ls dksbZ ugha 

7. The vector triple product Aሬሬ⃗ ×

൫Bሬሬ⃗ × Cሬ⃗ ൯ is equal to : 

(A)   Bሬሬ⃗ ൫Aሬሬ⃗ . Cሬ⃗ ൯ + Cሬ⃗ ൫Aሬሬ⃗ . Bሬሬ⃗ ൯ 

(B) Cሬ⃗ ൫Aሬሬ⃗ . Bሬሬ⃗ ൯ − Bሬሬ⃗ ൫Aሬሬ⃗ . Cሬ⃗ ൯ 

(C) Bሬሬ⃗ ൫Aሬሬ⃗ . Cሬ⃗ ൯ − Cሬ⃗ ൫Aሬሬ⃗ . Bሬሬ⃗ ൯ 

(D) Cሬ⃗ ൫Aሬሬ⃗ . Bሬሬ⃗ ൯ + Bሬሬ⃗ ൫Aሬሬ⃗ . Cሬ⃗ ൯ 

 7. frgjk lfn’k xq.kuQy Aሬሬ⃗ × ൫Bሬሬ⃗ × Cሬ⃗ ൯ 

cjkcj gksxk % 

(A)   Bሬሬ⃗ ൫Aሬሬ⃗ . Cሬ⃗ ൯ + Cሬ⃗ ൫Aሬሬ⃗ . Bሬሬ⃗ ൯ 

(B) Cሬ⃗ ൫Aሬሬ⃗ . Bሬሬ⃗ ൯ − Bሬሬ⃗ ൫Aሬሬ⃗ . Cሬ⃗ ൯ 

(C) Bሬሬ⃗ ൫Aሬሬ⃗ . Cሬ⃗ ൯ − Cሬ⃗ ൫Aሬሬ⃗ . Bሬሬ⃗ ൯ 

(D) Cሬ⃗ ൫Aሬሬ⃗ . Bሬሬ⃗ ൯ + Bሬሬ⃗ ൫Aሬሬ⃗ . Cሬ⃗ ൯ 

8. Tow vectors Aሬሬ⃗  and Bሬሬ⃗  are 

perpendicular if : 

(A)   Aሬሬ⃗ × Bሬሬ⃗ = 0 

(B) Aሬሬ⃗  . Bሬሬ⃗ = 0 

(C) Aሬሬ⃗ × Bሬሬ⃗ = 1 

(D) Aሬሬ⃗  . Bሬሬ⃗ = 1 

 8. 

 

 

nks lfn’k Aሬሬ⃗  rFkk Bሬሬ⃗  ,d nwljs ds yEcor~ gSa 

;fn % 

(A)   Aሬሬ⃗ × Bሬሬ⃗ = 0 

(B) Aሬሬ⃗  . Bሬሬ⃗ = 0 

(C) Aሬሬ⃗ × Bሬሬ⃗ = 1 

(D) Aሬሬ⃗  . Bሬሬ⃗ = 1 
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9. The value of Aሬሬ⃗ × ൫Bሬሬ⃗ × Cሬ⃗ ൯ + Bሬሬ⃗ ×

൫Cሬ⃗ × Aሬሬ⃗ ൯ + Cሬ⃗ × (Aሬሬ⃗ × Bሬሬ⃗ ) is : 

(A)   0 

(B) Aሬሬ⃗ × Bሬሬ⃗  

(C) Aሬሬ⃗  . Bሬሬ⃗  

(D) None of these 

 9. Aሬሬ⃗ × ൫Bሬሬ⃗ × Cሬ⃗ ൯ + Bሬሬ⃗ × ൫Cሬ⃗ × Aሬሬ⃗ ൯ + Cሬ⃗ ×

(Aሬሬ⃗ × Bሬሬ⃗ ) dk eku gS % 

(A)   0 

(B) Aሬሬ⃗ × Bሬሬ⃗  

(C) Aሬሬ⃗  . Bሬሬ⃗  

(D) buesa ls dksbZ ugha 

10. Which of the following quantity is 

scalar ? 

(A)   Electric field 

(B) Electro static potential 

(C) Velocity 

(D) Angular momentum 

 10. fuEu esa ls dkSu lh jkf’k vfn’k gS \ 

(A) fo|qr {ks= 

(B) fLFkj oS|qfrd foHko 

(C) osx 

(D) dks.kh; laosx 

11. The path of a particle is defined by 

position r⃗ = atଶ + bt + c, where a, 

b, c are constant. The acceleration 

of particle is : 

(A)   a 

(B) 2a 

(C) b 

(D) 2b 

 11. fdlh d.k dh fLFkfr ifjHkkf”kr dh tkrh gS 

r⃗ = atଶ + bt + c, tgk¡ a, b, c fu;rkad 

gSA d.k dk Roj.k gksxk % 

(A)   a 

(B) 2a 

(C) b 

(D) 2b 

12. Gradient of a scalar point function 
is :  
(A)   Scalar 
(B) Vector 
(C) Zero 
(D) None of these 

 12. vfn’k fcUnq Qyu dk xzsfM,.V gksrk gS % 

(A) vfn’k 

(B) lfn’k 

(C) ‘kwU; 

(D) buesa ls dksbZ ugha 
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13. Divergence of a vector point 

function is : 

(A)   Scalar 

(B) Vector 

(C) Zero 

(D) None of these 

 13. lfn’k fcUnq Qyu dk MkbotsZUl gksxk % 

(A) vfn’k 

(B) lfn’k 

(C) ‘kwU; 

(D) buesa ls dksbZ ugha 

14. Gauss divergence theorem relates 

to a :  

(A)   Line integral to surface 

integral 

(B) Line integral to volume 

integral 

(C) Surface integral to another 

surface integral 

(D) Surface integral to volume 

integral 

 14. xkWl MkbotsZUl izes; lacfU/kr gS % 

(A) js[kh; ¼ykbu½ lekdyu ls ì”B 

lekdyu 

(B) js[kh; ¼ykbu½ lekdyu ls vk;ru 

lekdyu 

(C) ì”B lekdyu ls nwljs ì”B lekdyu 

(D) ì”B lekdyu ls vk;ru lekdyu 

15. Stoke – Curl theorem relates to a : 

(A)   Line integral to surface 

integral 

(B) Line integral to volume 

integral 

(C) Surface integral to volume 

integral 

(D) Line integral to another line 

integral 

 15. LVksDl & dyZ izes; lacfU/kr gS % 

(A) js[kh; ¼ykbu½ lekdyu ls ì”B 

lekdyu 

(B) js[kh; ¼ykbu½ lekdyu ls vk;ru 

lekdyu 

(C) ì”B lekdyu ls vk;ru lekdyu 

(D) js[kh; ¼ykbu½ lekdyu ls nwljs 

js[kh; ¼ykbu½ lekdyu 
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16. What is the value of Dirac delta 

function δ(x − 3) at x = 3 : 

(A)   0 

(B) 1 

(C) 3 

(D) ∞ 

 16. fMjkWd MsYVk QaD’ku δ(x − 3) dk eku 

x = 3 ij D;k gksxk % 

(A) 0 

(B) 1 

(C) 3 

(D) ∞ 

17. The unit vector along ı̂ + 5ȷ̂ + 2k෠ 

is : 

(A)   న̂ ାହ఩̂ାଶ୩
෡

√ଷ଴
 

(B) న̂ ାହ఩̂ାଶ୩෡

ଷ଴ 
 

(C) ı̂ + 5ȷ̂ + 2k෠ 

(D) 2ı̂ + 3ȷ̂ + 2k෠ 

 17. ,dkad lfn’k ı̂ + 5ȷ̂ + 2k෠ ds lkFk % 

(A)   న̂ ାହ఩̂ାଶ୩
෡

√ଷ଴
 

(B) న̂ ାହ఩̂ାଶ୩෡

ଷ଴ 
 

(C) ı̂ + 5ȷ̂ + 2k෠ 

(D) 2ı̂ + 3ȷ̂ + 2k෠  

18. According to which theorem a 

sufficiently continuous vector field 

can be expressed as sum of two 

fields, one of them is solenoidal 

and other is irrotational ? 

(A)   Gauss Divergence theorem 

(B) Stokes theorem 

(C) Green’s theorem 

(D) Helmholtz theorem 

 18. fdl izes; ds vuqlkj i;kZIr vfojr lfn’k 

QhYM dks ifjukfydk ,oa v?kw.kZudh QhYM 

ds ;ksx ds :i esa O;Dr fd;k tk ldrk gS 

\ 

(A) xkWl MkbotsZUl izes; 

(B) LVksDl izes; 

(C) xzhu izes; 

(D) gsYegksV~t izes; 
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19. The value of div. (rො) is : 

(A)   0 

(B) ଶ
୰
 

(C) ଷ
୰య

 

(D) None of these 

 19. MkbotsZUl div. (rො) dk eku % 

(A)   0 

(B) ଶ
୰
 

(C) ଷ
୰య

 

(D) buesa ls dksbZ ugha 

20. If r = xı̂ + yȷ̂ + zk෠, the div r is : 

(A)   ı̂ + ȷ̂ + k෠ 

(B) 3 

(C) 0 

(D) None of these 

 20. ;fn r = xı̂ + yȷ̂ + zk෠ rc div r dk eku% 

(A)   ı̂ + ȷ̂ + k෠ 

(B) 3 

(C) 0 

(D) buesa ls dksbZ ugha 

21. In spherical polar co-ordinates 
system (r, θ, ϕ) represent :  
(A)   Radial distance, azimuth 

angle, zenith angle 
(B) Position vector, zenith angle, 

azimuth angle 
(C) Radial distance, zenith angle, 

azimuth angle  
(D) Distance, solid angle, plane 

angle 

 21. xksy /kzqo funsZ’kkad (r, θ, ϕ) O;Dr djrs gS % 

(A) f=T; nwjh] fnxa’k dks.k] pje dks.k 

(B) fLFkfr lfn’k] pje dks.k] fnxa’k dks.k  

(C) f=T; nwjh] pje dks.k] fnxa’k dks.k 

(D) nwjh] ?ku ¼Bksl½ dks.k] lknk dks.k 

22. Which is correct ? 
(A)   Both area and volume are 

vectors 
(B) Both area and volume are 

scalars 
(C) Area is scalar and volume is 

vector 
(D) Area is vector which volume 

is scalar 

 22. D;k lgh gS \ 
(A) {ks=Qy vkSj vk;ru lfn’k gSA 
(B) {ks=Qy vkSj vk;ru vfn’k gSA 
(C) {ks=Qy vfn’k vkSj vk;ru lfn’k gSA 
(D) {ks=Qy lfn’k vkSj vk;ru vfn’k gSA 
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23. The magnitude of the solid angle 

subtended by a closed surface at a 

point inside it is : 

(A)   0 

(B) π 

(C) 2π 

(D) ஠
ଶ
 

 23. ,d can lrg }kjk d{kkarfjr ?ku dks.k dk 

eku mlds vUnj fdlh fcUnq ij gksxk % 

(A)   0 

(B) π 

(C) 2π 

(D) ஠
ଶ
 

24. Earth is : 

(A)   An inertial frame 

(B) A non-inertial frame 

(C) Inertial frame during day 

time and non-inertial during 

night time 

(D) Non-inertial frame during day 

time and inertial during night 

time 

 24. ìFoh gS % 

(A) tM+Roh; Ýse  

(B) vtM+Roh; Ýse 

(C) tM+Roh; fnu ds le; rFkk 

vtM+Roh; jkr ds le; 

(D) vtM+Roh; fnu ds le; RkFkk 

tM+Roh; jkr ds le;  

25. Which of the following is incorrect 

for spherical polar coordinates ? 

(A)   rො, θ෠, zො are mutually 

perpendicular 

(B) The limit of θ is 0 to π/2 

(C) The limit of θ is 0 to π 

(D) The limit of ϕ is 0 to 2π 

 25. xksy /kqzo funsZ’kkadks ds fy;s fuEu esa dkSu 

lgh ugha gS \ 

(A)  rො, θ෠, zො vkil esa yEcor~ gSA 

(B) θ dh lhek 0 ls π/2 gSA 

(C) θ dh lhek 0 ls π gSA 

(D) ϕ dh lhek 0 ls 2π gSA 
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26. It z-axis is vertical and rො, θ෠,  and zො 

are unit vectors in cylindrical 

coordinates, then :  

(A)   rො is horizontal 

(B) θ෠ is vertical 

(C) rො is vertical 

(D) None of the above 

 26. ,d csyukdkj funsZ’kkad esa ;fn z-v{k 

yEcor~ gS rFkk rො, θ෠,  vkSj zො ,dkad lfn’k 

gS rks % 

(A) rො {kSfrt gSA 

(B) θ෠ yEcor~ gSA 

(C) rො yEcor~ gSA 

(D) buesa ls dksbZ ugha 

27. Value of δ୧୧ in a three dimensional 

system : 

(A)   2 

(B) 3 

(C) 0 

(D) None of these 

 27. δ୧୧ dk eku f=foeh; fudk; esa gksxk % 

(A) 2 

(B) 3 

(C) 0 

(D) buesa ls dksbZ ugha 

28. An index which is placed in the 

upper position of a quantity is 

known as : 

(A)   Subscript 

(B) Superscript 

(C) Upper script 

(D) Super index 

 28. ,d o.kZ ¼bUMsDl½ tks fdlh jkf’k ds Åij 

fLFkfr gksrk gS] dgykrk gS % 

(A) lcfLØIV 

(B) lqijfLØIV 

(C) vij fLØIV 

(D) lqij o.kZ ¼bUMsDl½ 
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29. The product of determinants หa୨୧ห 

and หb୨୧ห is equal to หc୩୧ ห if : 

(A)   c୨୧ = a୨୧b୨୧ 

(B) c୨୧ = a୧୧b୧
୨ 

(C) c୨୧ = a୩୧ b୨୩ 

(D) None of these 

 29. nks fu/kkZjdksa หa୨୧ห rFkk หb୨୧ห dk xq.kuQy 

หc୩୧ ห ds cjkcj gksxk ;fn % 

(A)   c୨୧ = a୨୧b୨୧ 

(B) c୨୧ = a୧୧b୧
୨ 

(C) c୨୧ = a୩୧ b୨୩ 

(D) buesa ls dksbZ ugha 

30. The value of A୨δ୨୧ is : 

(A)   A୧ 

(B) A୨ 

(C) A୧୨ 

(D) A୨୧ 

 30. A୨δ୨୧ dk eku gksxk % 

(A)   A୧ 

(B) A୨ 

(C) A୧୨ 

(D) A୨୧ 

31. The value of ப୶
౟

ப୶ౠ
 is : 

(A)   δ୨୧ 

(B) 1 

(C) 0 

(D) 1 if i ≠ j and 0 if i = j 

 31. ப୶౟

ப୶ౠ
 dk eku gksxk % 

(A)   δ୨୧ 

(B) 1 

(C) 0 

(D) 1 ;fn i ≠ j vkSj 0 ;fn i = j 

32. The value of δ୧
୨ is : 

(A)   0 

(B) n 

(C) 1 

(D) ∞ 

 32. δ୧
୨
 dk eku gksxk % 

(A)   0 

(B) n 

(C) 1  

(D) ∞ 
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33. The product of two contravariant 

vectors is a : 

(A)   Mixed tensor of rank 2 

(B) Contravariant tensor of rank 

2 

(C) Covariant tensor of rank 2 

(D) Fundamental tensor of rank 2 

 33. nks dUVªkoSfj,.V lfn’k dk xq.kuQy gksxk % 

(A) fefJr VsUlj ftldh jSad 2 gksA 

(B) dUVªkoSfj,.V VsUlj ftldh jSad 2 gksA 

(C) dksoSfj,.V VsUlj ftldh jSad 2 gksA 

(D) ekSfyd VsUlj ftldh jSad 2 gksA 

34. The moment of Inertia is a : 

(A)   Scalar 

(B) Vector 

(C) A tensor of rank 2 

(D) A tensor of higher rank 

 34. tM+Ro vk/kw.kZ gS % 

(A) vfn’k 

(B) lfn’k 

(C) VsUlj ftldh jSUd 2 gSA 

(D) mPprj jSUd dk VsUlj 

35. Kronecker delta δ୨୧ is : 

(A)   A scalar 

(B) A vector 

(C) A tensor of rank 1 

(D) A tensor of rank 2 

 35. Øksusdj MsYVk δ୨୧ gS % 

(A) vfn’k 

(B) lfn’k 

(C) VsUlj ftldh jSUd 1 gSA 

(D) VsUlj ftldh jSUd 2 gSA 

36. The product of the tensor A୩
୧୨ and 

B୩
୧୨ is a tensor of the kind : 

(A)   (2, 1) 

(B) (1, 0) 

(C) (4, 2) 

(D) (3, 3) 

 36. VsUlj A୩
୧୨
 rFkk B୩

୧୨
 dk xq.kuQy fdl izdkj 

dk VsUlj gksxk % 

(A)   (2, 1) 

(B) (1, 0) 

(C) (4, 2)  

(D) (3, 3) 
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37. What is the value of  δ୧୩ Σ୧୩୫ : 

(A)   Covariant vector Am 

(B) One 

(C) Zero 

(D) Three 

 37. δ୧୩ Σ୧୩୫ dk eku gksxk % 

(A) dksoSfj,.V lfn’k Am 

(B) ,d 

(C) ‘kwU; 

(D) rhu 

38. How many independent 

components can an antisymmetric 

tensor of rank 2 have in n-

dimensional space ? 

(A)   nଶ 

(B) n(n + 1) 

(C) ୬(୬ିଵ)
ଶ

 

(D) 2n 

 38. fdrus Lora= ?kVd n-vk;keh Lisl esa 2 

jSUd ds izfrlfeer VsUlj esa jg ldrs gS \  

(A)   nଶ 

(B) n(n + 1) 

(C) ୬(୬ିଵ)
ଶ

 

(D) 2n 

39. What is the rank of inner product 

of tensor A୰
୮୯ and B୲

ୱ ? 

(A)   A tensor of rank 3 

(B) A tensor of rank 5 

(C) A vector 

(D) None of these 

 39. VsUlj A୰
୮୯

 vkSj B୲
ୱ ds vkUrfjd xq.kuQy 

dh jSad D;k gksxh \ 

(A) VsUlj ftldh jSUd 3 gksA 

(B) VsUlj ftldh jSUd 5 gksA 

(C) ,d lfn’k 

(D) buesa ls dksbZ ugha 

40. If A୧୨ = A୨୧ then A୧୨ is : 
(A)   0 
(B) A symmetric tensor 
(C) An antisymmetric tensor 
(D) A scalar 

 40. ;fn A୧୨ = A୨୧ rc A୧୨ gksxk % 

(A) 0 

(B) lefer VsUlj 

(C) izfrlefer VsUlj 

(D) vfn’k 
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41. Centrifugal force is :  

(A)   True forces 

(B) Pseudo force 

(C) Gravitational force 

(D) Normal force 

 41. 

 

 

 

 

 

vidsUnz cy gksrk gS % 

(A) okLrfod cy 

(B) vkHkklh cy 

(C) xq:Ro cy 

(D) lkekU; cy 

42. it the torque acting on a system of 

particles is zero, physical quantity 

conserved is : 

(A)   Angular momentum 

(B) Linear momentum 

(C) Energy 

(D) All of the above 

 42. ;fn d.kksa ds ,d fudk; ij yxus okyk cy 

vk/kw.kZ ‘kwU; gks] rks lajf{kr gksus okyh HkkSfrd 

jkf’k gksrh gS % 

(A) dks.kh; laosx 

(B) js[kh; laosx 

(C) ÅtkZ 

(D) mijksDr lHkh 

43. A rocket is based on the principle 

of conservation of : 

(A)   Angular momentum 

(B) Linear momentum 

(C) Energy 

(D) Mass 

 43. jkWdsV fdl fl)kUr ij vk/kkfjr gS \ 

(A) dks.kh; laosx laj{k.k 

(B) js[kh; laosx laj{k.k 

(C) ÅtkZ laj{k.k 

(D) nzO;eku laj{k.k 

44. A central force is an example of : 

(A)   Non-conservative force 

(B) Conservative force 

(C) Fictitious force 

(D) Frictional force 

 44. dsUnzh; cy mnkgj.k gS % 

(A) vlaj{kh cy dk 

(B) laj{kh cy dk 

(C) vkHkklh cy dk 

(D) ?k”kZ.k cy dk 
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45. The product of moment of inertia 

and angular velocity is equal to : 

(A)   Torque 

(B) Work 

(C) Force 

(D) Angular momentum 

 45. tM+Ro vk?kw.kZ o dks.kh; osx dk xq.kuQy 

leku gksrk gS % 

(A) cy vk?kw.kZ ds 

(B) dk;Z ds 

(C) cy ds 

(D) dks.kh; laosx ds 

46. A ring, a dise, a solid sphere and a 

spherical shell have same mass 

and radius. Which one has least 

moment of inertia about its 

geometrical axis ? 

(A)   Ring 

(B) Solid sphere 

(C) Dise 

(D) Spherical shell 

 46. ,d òÙkkdkj fjax ¼oy;½] fMLd ¼pdrh½] 

Bksl xksyk vkSj xksykdkj [kksy ds nzO;eku 

vkSj f=T;k leku gSaA buesa ls fdldk 

tM+Ro vk?kw.kZ blds T;kferh; v{k ds lkis{k 

U;wure gksxk \ 

(A) òÙkkdkj fjax ¼oy;½ 

(B) Bksl xksyk 

(C) fMLd ¼pdrh½ 

(D) xksykdkj [kksy 

47. We have two spheres of same 
mass one of which is spherical 
shell and another is solid. They 
have same moment of inertia about 
respective diameter. The ratio of 
their radius is given by :  
(A)   5 ∶ 7 
(B) 3 ∶ 5 

(C) √3 ∶ √5 

(D) √3 ∶ √7 

 47. leku nzO;eku ds nks xksys ftlesa ,d 

xksykdkj [kksy gS rFkk nwljk Bksl gSA nksukas 

ds tM+Ro vk?kw.kZ Hkh muds O;kl ds lkis{k 

leku gSA mudh f=T;kvksa ds vuqikr gksxsa % 

(A)   5 ∶ 7 
(B) 3 ∶ 5 

(C) √3 ∶ √5 

(D) √3 ∶ √7 
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48. The centre of mass of a body lies 

at : 

(A)   Inside the body 

(B) Outside the body 

(C) Within or outside the body 

(D) None of these 

 48. fdlh fi.M ds nzO;eku dk dsUnz gksrk gS % 

(A) fi.M ds vUnj 

(B) fi.M ds ckgj 

(C) fi.M ds vUnj ;k ckgj 

(D) buesa ls dksbZ ugha 

49. The moment of inertia of a body 

does not depend upon : 

(A)   Mass 

(B) Distribution of mass 

(C) Angular velocity 

(D) Axis of rotation 

 49. fdlh fi.M dk tM+Ro vk?kw.kZ fuHkZj ugha 

djrk gS % 

(A) nzO;eku ij 

(B) nzO;eku forj.k ij 

(C) dks.kh; osx ij 

(D) ?kw.kZu ds v{k ij 

50. An inclined plane makes an angle 

30° with the horizontal. A solid 

sphere rolling down this inclined 

plane from rest without slipping 

has a linear acceleration equal to : 

(A)   ୥
ଷ
 

(B) ଶ୥
ଷ

 

(C) ହ୥
଻

 

(D) ହ୥
ଵସ

 

 50. {kSfrt ls 30° dks.k ij >qds gq;s ur lery 

ij ,d Bksl xksyk fcuk fQlys fojkekoLFkk 

ls yq<+duk izkjEHk djrk gSA js[kh; Roj.k dk 

eku gksxk % 

(A)   ୥
ଷ
 

(B) ଶ୥
ଷ

 

(C) ହ୥
଻

 

(D) ହ୥
ଵସ
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51. Out of Newton’s three laws of 

which is most fundamental ? 

(A)   First Law 

(B) Second Law 

(C) Third Law 

(D) All the three Law 

 51. U;wVu ds rhu fu;eksa esa lcls ekSfyd 

¼vk/kkjHkwr½ dkSu lk gS \ 

(A) izFke fu;e 

(B) f}rh; fu;e 

(C) rr̀h; fu;e 

(D) rhuksa fu;e 

52. The value of gravitational force is 

maximum at : 

(A)   Equator 

(B) Poles 

(C) Both (A) and (B) 

(D) None of these 

 52. xq:Rokd”kZ.k cy dk eku vf/kdre gksxk % 

(A) Hkwe/; ij 

(B) /kqzoksa ij 

(C) (A) rFkk (B) nksuksa ij 

(D) buesa ls dksbZ ugha 

53. Which pseudo force is responsible 
for the formation of hurricanes ? 
(A)   Centrifugal force 
(B) Coriolis force 
(C) Euler force 
(D) None of these 

 53. izHkatu ¼rwQku½ dk fuekZ.k fdl vkHkklh cy 

ds dkj.k gksxk \ 

(A) vidsfUnzr cy 

(B) dksfj;kfyl cy 

(C) ;wyj cy 

(D) buesa ls dksbZ ugha 

54. A ring is rolling on an inclined 
plane. The ratio of linear and 
rotational kinetic energies will be : 
(A)   2 ∶ 1 
(B) 1 ∶ 2 
(C) 1 ∶ 1 
(D) 4 ∶ 1 

 54. ,d oy; ur lery ij yq<+d jgh gSA 

blds js[kh; ,oa ?kw.khZ; xfrt ÅtkZ dk 

vuqikr gksxk % 

(A)   2 ∶ 1 
(B) 1 ∶ 2 
(C) 1 ∶ 1 
(D) 4 ∶ 1 
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55. The radius of gyration of an object 

depends on :  

(A)   Its size only 

(B) Its shape only 

(C) The axis of rotation 

(D) All of the above 

 55. fdlh oLrq dh ifjHkze.k f=T;k ¼tkbjs’ku 

f=T;k½ fuHkZj djrh gS % 

(A) oLrq ds vkdkj ij 

(B) oLrq dh vkÑfr ij 

(C) ?kw.kZu v{k ij 

(D) mi;qZDr lHkh ij 

56. The relation between elastic 

constant Y, k and σ is : 

(A)   Y = 2k(1 − 2σ) 

(B) Y = 3k(1 − 2σ) 

(C) Y = 3k(1 − 3σ) 

(D) Y = 2k(1 − σ) 

 56. izR;kLFk fLFkjk¡dksa Y, k vkSj σ esa laca/k gS % 

(A)   Y = 2k(1 − 2σ) 

(B) Y = 3k(1 − 2σ) 

(C) Y = 3k(1 − 3σ) 

(D) Y = 2k(1 − σ) 

57. The value of Poisson’s ratio (σ) 

lies between : 

(A)   0.5 and −1 

(B) −0.5 and +1 

(C) −0.5 and −1 

(D) −0.5 and +0.5 

 57. ikblu fu”ifÙk σ dk eku fduds chp gksxk 

% 

(A)   0.5 ls −1 

(B) −0.5 ls +1 

(C) −0.5 ls −1 

(D) −0.5 ls +0.5 

58. Two rods are of same length, same 

cross-sectional area. Of these one 

has square cross section and the 

other circular cross-section. The 

ratio of depressions produced in 

the two rods is : 

(A)   9 ∶ π 

(B) 4 ∶ π 

(C) 3 ∶ π 

(D) 16 ∶ π 

 58. 

 

 

nks NM+ leku yEckbZ o leku vuqizLFk 

ifjPNsn ds {ks=Qy dh gSaA muesa ,d dk 

ifjPNsn oxkZdkj rFkk nwljh NM+ dk vuqizLFk 

ifjPNsn òÙkkdkj gSA nksuksa NM+ksa ds mRiUu 

voueu dk vuqikr gksxk % 

(A)   9 ∶ π 

(B) 4 ∶ π 

(C) 3 ∶ π 

(D) 16 ∶ π 



Series-A B.Sc. - B010101T/ 610 Page - 19 

59. For a given material the value of 
Young’s modulus (Y) is 2-4 times 
of its shear modulus (n); then the 
value of Poisson’s ratio will be :    
(A)   2.4 
(B) 1.2 
(C) 0.4 
(D) 0.2 

 59. fn;s x;s inkFkZ ds fy;s] ;ax izR;kLFkrk 

xq.kkad Y] ǹ<+rk xq.kkad (n) dk 2&4 xquk 

gSA rc ikblu fu”ifÙk dk eku gksxk % 

(A)   2.4 
(B) 1.2 
(C) 0.4 
(D) 0.2 

60. The Young’s modulus of the 
material of copper wire of length L 
and radius r is Y. It length of the 
copper wire is taken L/2 and 
radius unchanged, then its 
Young’s modulus will be : 
(A)   Y 
(B) Y/2 
(C) 2Y 
(D) 4Y 

 60. ,d rkacs ds rkj dh yEckbZ L rFkk f=T;k r 

gS rFkk rkj ds inkFkZ dk ;ax izR;kLFkrk 

xq.kkad Y gSA ;fn rkj dh yEckbZ L/2 dj 

nh tk;s rFkk f=T;k vifjofrZr jgs rks ;ax 

izR;kLFkrk xq.kkad dk eku gksxk % 

(A)   Y 
(B) Y/2 
(C) 2Y 
(D) 4Y 

61. It two cylinders, one hollow and 

other solid, are of same length, 

mass and material are given, then 

to twist the cylinder through the 

same angle, more torque will be 

applied for the ? 

(A)   Hollow cylinder 

(B) Solid cylinder 

(C) Same torque will be required 

for both   

(D) Can not be predicted 

 61. ,d leku yEckbZ] nzO;eku rFkk ,d gh 

inkFkZ ds cus nks flfy.Mj ,d Bksl ,oa ,d 

[kks[kyk dks ,d leku dks.k ls fV~oLV 

¼?kw.kZu½ djus ds fy;s fdlesa T;knk cy 

vk?kw.kZ yxsxk \ 

(A) [kks[kyk flys.Mj 

(B) Bksl flys.Mj 

(C) nksuksa esa leku cy vk?kw.kZ yxsxk 

(D) dqN dgk ugha tk ldrk 
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62. Young’s modulus for a perfectly 

plastic body is : 

(A)   Zero 

(B) Infinite 

(C) One 

(D) Finite 

 62. iw.kZr;% IykfLVd fiaM dk ;ax izR;kLFkrk 

xq.kkad gksrk gS % 

(A) ‘kwU; 

(B) vuar 

(C) ,d 

(D) fuf’pr 

63. A material has Poisson’s ratio 

0.20. If a uniform rod of its surface 

longitudinal strain 4 × 10ିଷ, then 

its lateral strain is : 

(A)   8 × 10ିସ 

(B) 8 × 10ିଷ 

(C) 8 × 10ିହ 

(D) 2 × 10ିଶ 

 63. ,d inkFkZ dh ik;lu fu”ifÙk 0-20 gSA ;fn 

fdlh ,d leku NM+ esa vuqnS/;Z foÑfr 

4 × 10ିଷ gS rks bldh ikf’oZd foÑfr 

gksxh % 

(A)   8 × 10ିସ 

(B) 8 × 10ିଷ 

(C) 8 × 10ିହ 

(D) 2 × 10ିଶ 

64. The change in shape of a regular 

body is due to : 

(A)   Bulk strain 

(B) Shearing strain 

(C) Longitudinal strain 

(D) Metallic strain 

 64. fdlh fu;fer vkÑfr esa vkdkj ifjorZu 

gksrk gS % 

(A) vk;rukRed foÑfr ds dkj.k 

(B) vi:i.k foÑfr ds dkj.k 

(C) vuqnS/;Z foÑfr ds dkj.k 

(D) /kkfRod foÑfr ds dkj.k 
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65. A beam of metal supported at two 

ends is loaded at its centre. The 

depression of the center is 

proportional to :   

(A)   ଵ
ଢ଼
 

(B) ଵ
ଢ଼మ

 

(C) Y 

(D) Yଶ 

 65. /kkrq dh ,d che fljksa ij fLFkj dj e/; esa 

Hkkj yVdk;k tkrk gSA che dk voueu 

vkuqikfrd gksxk % 

A)   ଵ
ଢ଼
 

(B) ଵ
ଢ଼మ

 

(C) Y 

(D) Yଶ 

66. For an incompressible material, 

the value of Bulk modulus is : 

(A)   Zero 

(B) One 

(C) Half 

(D) Infinity 

 66. vlaihM~; inkFkZ ds fy;s vk;ru izR;kLFkrk 

xq.kkad gksrk gS % 

(A) ‘kwU; 

(B) ,d 

(C) vk/kk 

(D) vuar 

67. The value of Poisson’s ratio σ for 

an incompressible material is : 

(A)   − ଵ
ଶ
 

(B) 0 

(C) ଵ
ଶ
 

(D) ±1 

 67. vlaihM~; inkFkZ ds fy;s ikblu fu”ifÙk dk 

eku gksrk gS % 

(A)   − ଵ
ଶ
 

(B) 0 

(C) ଵ
ଶ
 

(D) ±1 
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68. Which one is more elastic in the 

following : 

(A)   Air 

(B) Water 

(C) Mercury 

(D) Both (A) and (B) 

 68. fuEu esa lcls vf/kd izR;kLFk gS % 

(A) gok 

(B) ikuh 

(C) ikjk 

(D) (A) rFkk (B) nksuksa 

69. The torsional rigidity for solid 

cylinder is (restoring couple per 

unit twist) : 

(A)   c = ஠஗୰ర

ଶ୪
 

(B) c = ஠஗୰ర

ସ୪
 

(C) c = ஠஗୰మ

ଶ୪
 

(D) c = ஠మ஗୰ర

ସ୪
 

 69. Bksl csyu dh ejksM+h n<̀+rk gksxh ¼,dkad 

,saBu dk izR;kueu cy ;qXe½ % 

(A)   c = ஠஗୰ర

ଶ୪
 

(B) c = ஠஗୰ర

ସ୪
 

(C) c = ஠஗୰మ

ଶ୪
 

(D) c = ஠మ஗୰ర

ସ୪
 

70. The earth is revolving about the 

sun under gravitational force. 

What is conserved for the system ? 

(A)   Linear momentum 

(B) Angular momentum 

(C) Both of the above 

(D) Neither (A) nor (B) 

 70. ìFoh lw;Z ds pkjksa vksj xq:Roh; cyksa ds 

vUrxZr ifjØek djrh gS rks fudk; ds fy;s 

D;k lajf{kr gksxk % 

(A) js[kh; laosx 

(B) dks.kh; laosx 

(C) mi;qZDr nksuksa 

(D) u rks (A) u gh (B) 
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71. If the mass of the earth becomes 

double, the period of rotation of 

earth around sun as compared to 

initial period becomes :  

(A)   Double 

(B) Half 

(C) One fourth 

(D) Approximately same 

 71. ;fn ìFoh dk nzO;eku nks xquk dj fn;k 

tk;s rks lw;Z ds ifjr% ìFoh dk ifjØe.k 

dky izkjfEHkd voLFkk ls orZeku ifjØe.k 

dky gksxk % 

(A) nqxuk 

(B) vk/kk 

(C) ,d pkSFkkbZ 

(D) yxHkx leku 

72. The distance of two satellites from 

the surface of the earth are R and 

7R. Their time period of rotation 

will be in the ration : 

(A)   1 ∶ 8 

(B) 1 ∶ 64 

(C) 1 ∶ 7 

(D) None of them 

 72. ìFoh ry ls nks mixzgksa dh nwfj;k¡ Øe’k% R 

rFkk 7R gSaA muds ifjØe.k dkyksa dk 

vuqikr gksxk % 

(A)   1 ∶ 8 

(B) 1 ∶ 64 

(C) 1 ∶ 7 

(D) buesa ls dksbZ ugha 

73. Total number of satellites used in 

GPS (Global Positioning System) 

are :  

(A)   16 

(B) 20 

(C) 3 

(D) 24 

 73. oSf’od LFkku fu/kkZj.k iz.kkyh ¼thŒ ihŒ 

,lŒ½ esa dqy fdrus mixzg mi;ksx esa gksrs 

gS % 

(A) 16 

(B) 20 

(C) 3 

(D) 24 
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74. The orbit of an artificial satellite 

about the earth will be elliptical if 

its total energy is : 

(A)   Positive 

(B) Negative 

(C) Zero 

(D) Equal to potential energy 

 74. ,d Ñf=e mixzg ds ìFoh ds lkis{k d{k dh 

vkÑfr nh?kZòÙkh; gksxh ;fn bldh dqy 

ÅtkZ gks % 

(A) /kukRed 

(B) _.kkRed 

(C) ‘kwU; 

(D) fLFkfrt ÅtkZ ds leku 

75. Kepler’s third law is (T = time 

period, a = semi major axis, b = 

semi minor axis of elliptical orbit):   

(A)   Tଶ ∝ aଷ 

(B) Tଶ ∝ ቀୟାୠ
ଶ
ቁ
ଷ
 

(C) Tଶ ∝ bଷ 

(D) Tଶ ∝ (ab)ଷ 

 75. ;fn nh?kZòÙkkdkj d{kk dh v)Znh?kZ v{k a 

rFkk v)Zy?kq v{k b rFkk ifjØe.k dky T 

gks rks dSiyj dk rr̀h; fu;e gksxk % 

(A)   Tଶ ∝ aଷ 

(B) Tଶ ∝ ቀୟାୠ
ଶ
ቁ
ଷ
 

(C) Tଶ ∝ bଷ 

(D) Tଶ ∝ (ab)ଷ 

76. If the mass of the electron is mୣ, 

the reduced mass of the 

positronium will be : 

(A)   2 mୣ 

(B) mୣ 

(C) ଵ
ଶ

mୣ 

(D) 3 mୣ 

 76. ;fn bysDVªku dk nzO;eku mୣ gS rks 

iksthVªksfu;e dk lekuhr nzO;eku gksxk % 

(A)   2 mୣ 

(B) mୣ 

(C) ଵ
ଶ

mୣ 

(D) 3 mୣ 
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77. The escape velocity from the earth 

is about 11 Km/sec. The escape 

velocity from a planet having 

twice the radius and the same 

mean density as the earth is : 

(A)   22 Km/sec 

(B) 11 Km/sec 

(C) 5.5 Km/sec 

(D) 15.5 Km/sec 

 77. ìFoh ls iyk;u osx yxHkx 11 Km/sec 

gSA ,d xzg ftldh f=T;k ìFoh dh f=T;k 

ls nqxuh rFkk ek/; ?kuRo leku gS] dk 

iyk;u osx gksxk % 

(A)   22 Km/sec 

(B) 11 Km/sec 

(C) 5.5 Km/sec  

(D) 15.5 Km/sec 

78. The period of a geostationary 

satellite is equal to : 

(A)   1 Year 

(B) 24 hour 

(C) 12 hour 

(D) None of these 

 78. ,d Hkw&fLFkj mixzg dk ifjØe.k dky 

cjkcj gksrk gS % 

(A) 1 o”kZ 

(B) 24 ?kaVs 

(C) 12 ?kaVs 

(D) buesa ls dksbZ ugha 

79. A satellite in a circular orbit about 

the earth has a kinetic energy E୩. 

What is the minimum amount of 

energy to be added so that it 

escapes from the earth ? 

(A)   2 E୩ 

(B) E୩ 

(C) ୉ౡ
ଶ

 

(D) ୉ౡ
ସ

 

 79. ìFoh ds ifjr% ifjØek djrs mixzg dh 

xfrt ÅtkZ E୩ gSA og U;wure ÅtkZ 

fdruh gksxh ftldks tksM+rs gh ;g d{kk 

NksM+ dj eqDr gks tk;sxk \ 

(A)   2 E୩ 

(B) E୩ 

(C) ୉ౡ
ଶ

 

(D) ୉ౡ
ସ
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80. In damped harmonic oscillator 

which one decreases ? 

(A)   Amplitude of vibration 

(B) Energy of vibration 

(C) Both energy and amplitude 

(D) Neither energy nor amplitude 

 80. ,d voeafnr ljy vkorZ nksyd esa fuEu esa 

D;k ?kVrk gS \ 

(A) daiu vk;ke 

(B) daiu ÅtkZ 

(C) ÅtkZ ,oa vk;ke nksuksa 

(D) u rks ÅtkZ vkSj u gh vk;ke 

81. The differential equation of simple 

harmonic motion (S. H. M.) is 

given by ୢమ୷
ୢ୲మ

+ 100y = 0. The 

frequency of motion is : 

(A)   1 

(B) 10 

(C) ଵ଴
ଶ஠

 

(D) ଵ଴଴
ଶ஠

 

 81. ljy vkorZ xfr ¼eŒ vkŒ xŒ½ dk vody 

lehdj.k gS ୢమ୷
ୢ୲మ

+ 100y = 0 xfr dh 

vkòfÙk gksxh % 

(A)   1 

(B) 10 

(C) ଵ଴
ଶ஠

 

(D) ଵ଴଴
ଶ஠

 

82. The meaning of high quality factor 

of an oscillator is : 

(A)   Damping is more 

(B) Damping is infinite 

(C) Damping is zero 

(D) Damping is small 

 82. fdlh nksfy= ds xq.krk&xq.kkad dk eku mPp 

gksus dk vFkZ gS % 

(A) voeanu vf/kd gSA 

(B) voeanu vuar gSA 

(C) voeanu ‘kwU; gSA 

(D) voeanu vYi gSA 
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83. Sharper is the resonance, the 
bandwidth is : 
(A)   Larger 
(B) Smaller 
(C) Moderate 
(D) None of these 

 83. vuqukn dh rh{.krk ftruh vf/kd gksxh cSUM 

pkSM+kbZ mruh gh % 

(A) vf/kd gksxh 

(B) de gksxh 

(C) e/;e gksxh 

(D) buesa ls dksbZ ugha 

84. The motion of a particle given by 
y = A sin(wt + ϕ) represents : 
(A)   Oscillatory but not S. H. M. 
(B) Oscillatory and S. H. M. 
(C) Neither oscillatory nor S. H. 

M. 
(D) Uniform circular motion 

 84. ,d d.k dh xfr dk lehdj.k y =

A sin(wt + ϕ) iznf’kZr djrh gS % 

(A) nksyuh; ysfdu ljy vkoZr xfr ugha 

(B) nksyuh; ,oa ljy vkoZr xfr  

(C) u rks nksyuh; vkSj u gh ljy vkoZr 

xfr  

(D) ,d leku òÙkh; xfr 

85. The shape of the Lissajous figure 
depends upon the :  
(A)   Ratio of frequencies  
(B) Ratio of amplitudes  
(C) Phase difference 
(D) All of the above 

 85. fylktqvl vkÑfr dk vkdkj fuHkZj djrk gS 

% 

(A) vkòfÙk;ksa ds vuqikr ij 

(B) vk;keksa ds vuqikr ij 

(C) dykUrj ij 

(D) mijksDr lHkh ij 

86. If E is mean energy and τ is 
relaxation time, then power 
dissipation of damped oscillator is 
:   
(A)   Eτ 
(B) E/τ 
(C) Eτଶ 
(D) E/τଶ 

 86. ;fn E e/;eku ÅtkZ gS rFkk τ JkfUr dky 

gS rc voeafnr nksyd dh ÅtkZ {k; gksxh % 

(A)   Eτ 
(B) E/τ 
(C) Eτଶ 
(D) E/τଶ 



Series-A B.Sc. - B010101T/ 610 Page - 28 

87. The equation of forced oscillation 

is : 

(A)   x = A sin(wt + ϕ) 

(B) ୢమ୶
ୢ୲మ

+ w଴
ଶ x = 0   

(C) ୢమ୶
ୢ୲మ

+ 2kx + w଴
ଶ x = 0 

(D) ୢమ୶
ୢ୲మ

+ 2kx + w଴
ଶ x = F଴ sin pt 

 87. iz.kksfnr nksyu dk lehdj.k gS % 

(A)   x = A sin(wt + ϕ) 

(B) ୢమ୶
ୢ୲మ

+ w଴
ଶ x = 0 

(C) ୢమ୶
ୢ୲మ

+ 2kx + w଴
ଶ x = 0 

(D) ୢమ୶
ୢ୲మ

+ 2kx + w଴
ଶ x = F଴ sin pt 

88. The relation between quality factor 

Q and relaxation time τ is : 

(A)   Q = w/τ 

(B) Q = τ/w 

(C) Q = ଵ
୵த

 

(D) Q = w τ 

 88. xq.krkdkjd Q vkSj JkfUr dky τ ds chp 

lacaU/k gS % 

(A)   Q = w/τ 

(B) Q = τ/w 

(C) Q = ଵ
୵த

 

(D) Q = w τ 

89. Which of the following parameter 

of a wave undergoes a change 

when the wave is reflected from a 

rigid boundary ? 

(A)   Amplitude 

(B) Speed 

(C) Wave length 

(D) Phase 

 89. fdl HkkSfrd jkf’k esa ifjorZu gksrk gS tc 

rjax ǹ<+ fljs ls ijkofrZr gksrh gS % 

(A) vk;ke 

(B) osx 

(C) rjaxnS/;Z 

(D) dykUrj 
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90. The equation of motion of a 

particle executing S.H.M. is x =

3 sin wt + 4 cos wt, then amplitude 

of the particle is : 

(A)   7 

(B) 1 

(C) 5 

(D) 12 

 90. ljy vkorZ xfr esa ,d d.k dk lehdj.k 

gS x = 3 sin wt + 4 cos wt, rks d.k dk 

vk;ke gksxk % 

(A) 7 

(B) 1 

(C) 5 

(D) 12 

91. The equation for a wave is given 

by φ = 4 sin 2π ቀ ୲
଴.଴ଶ

− ୶
ଵ଴଴
ቁ 

where φ and x are in centimeters 

and t in seconds. The velocity of 

propagation is : 

(A)   200 cm/sec 

(B) 100 cm/sec 

(C) 50 cm/sec 

(D) 8 cm/sec 

 91. ,d rjax dk lehdj.k gS φ =

4 sin 2πቀ ୲
଴.଴ଶ

− ୶
ଵ଴଴
ቁtgk¡ φ vkSj x lseh 

esa gS rFkk t lsd.M esa] rjax xfr dk osx gS% 

(A)   200 cm/sec 

(B) 100 cm/sec 

(C) 50 cm/sec  

(D) 8 cm/sec 

92. Velocity of sound is largest in : 

(A)   Air 

(B) Vacuum  

(C) Water 

(D) Steel 

 92. /ofu dh pky lokZf/kd gksrh gS % 

(A) ok;q esa 

(B) fuokZr esa 

(C) ty esa 

(D) LVhy esa 
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93. The sound waves produced in a 
gas are always :  
(A)   Transverse 
(B) Longitudinal 
(C) Stationary 
(D) Electro magnetic 

 93. xSl esa mRiUu /ofu rajxsa lnSo gksrh gS % 

(A) vuqizLFk 

(B) vuqnS/;Z 

(C) vizxkeh 

(D) fo|qr pqEcdh; 

94. Three sound sources of  
frequencies (n –  1), n and (n + 1) 
are sounded together. The number 
of beats heard per second will be : 
(A)   4 
(B) 3 
(C) 2 
(D) 1 

 94. rhu /ofu lzksr] ftudh vkòfÙk (n –  1), n 

rFkk (n + 1) gS ijLij /ofu mRiUu djrs 

gSaA izfr lsd.M lqukbZ nsus okys foLianksa dh 

la[;k gksxh % 

(A) 4 

(B) 3 

(C) 2 

(D) 1 

95. Sound waves do not obey the 
principle of the following : 
(A)   Refraction  
(B) Interference 
(C) Diffraction 
(D) Polarization 

 95. /ofu rjaxsa fuEu esa ls fdl fl)kUr dk 

ikyu ugha djrh gS % 

(A) viorZu 

(B) O;frdj.k 

(C) foorZu 

(D) /kzqo.k 
96. Tow waves yଵ = 0.25 sin 316t 

and yଶ = 0.25 sin 310t are 
propagating along the same 
direction and medium. The 
number of beats produced per 
second is : 
(A)   6 
(B) 3 
(C) 3/π 
(D) 3π 

 96. nks rjaxsa] yଵ = 0.25 sin 316t rFkk yଶ =

0.25 sin 310t ,d fn’kk rFkk leku 

ek/;e esa lapfjr gks jgh gSaA izfr lsd.M 

foLianksa dh la[;k gksxh % 

(A)   6 
(B) 3 
(C) 3/π 
(D) 3π 
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97. If A୧୨ is antisymmetric tensor then 

the value of Aଵଵ is :  
(A)   0 
(B) 1 

(C) ୬
ଶ
 

(D) n 

 97. ;fn A୧୨ izfrlefer VsUlj gS rks Aଵଵ dk 

eku gksxk % 

(A) 0 

(B) 1 

(C) ୬
ଶ
 

(D) n 
98. Which force is related to the 

Ferel’s law ? 
(A)   Coriolis force 
(B) Centrifugal force 
(C) Euler force 
(D) All of the above 

 98. dkSu lk cy Qsjy ds fu;e ls lacaf/kr gS \ 

(A) dkfj;kfyl cy 

(B) vidsUnz cy 

(C) ;wyj cy 

(D) mijksDr lHkh 

99. If F is the velocity of a fluid 
particle then ∫

ୡ
F. dr represents : 

(A)   Work done 
(B) Circulation 
(C) Flux 
(D) Conservative field 

 99. ;fn F fdlh nzo d.k dk osx gS rks ∫
ୡ

F. dr 

O;Dr djrk gS % 

(A) dk;Z  

(B) ifjlapj.k ¼ldZqys’ku½ 

(C) izokg ¼¶yDl½ 

(D) laj{kh {ks= 

100. The relation between phase 
velocity  (v୮) and group velocity 
(v୥) of a wave is given by : 

(A)   v୥ = v୮ + λ ୢ୴౦
ୢ஛

 

(B) v୥ = λ ୢ୴౦
ୢ஛

− v୮ 

(C) v୥ = v୮ − λ ୢ୴౦
ୢ஛

 

(D) v୥ = v୮ 

 100. izkoLFkk osx (v୮) vkSj lewg osx (v୥) esa 

laca/k gS % 

(A)   v୥ = v୮ + λ ୢ୴౦
ୢ஛

 

(B) v୥ = λ ୢ୴౦
ୢ஛

− v୮ 

(C) v୥ = v୮ − λ ୢ୴౦
ୢ஛

 

(D) v୥ = v୮ 

 

****** 
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